## **Price Analysis**

Solicitation No. OPN2124435B1 Date Bid Posted: May 20, 2022
Solicitation Title: Uniforms Date Bid Opened: June 29, 2022

Using Agency: BCAD

Purchasing Agent: Lucho Jaramillo

Declinations: 0

Furchasing Agent. Li	T	Declinations. 0								
Group 1				Sharp N	larketing	Cost Estimate	Recommended			
							Bidder %			
14 44	Manage 1		4	D	T-4-1	D.: -	difference from			
Item #	Item Ladies Three Quarter Sleeve Fine Twill	Qty	Unit	Price	Total	Price	Cost Estimate			
ODNI2124425D1 01	•	40		¢26.61	¢1 4C4 40	¢ 25 00	220/			
OPN2124435B1-01	Shirts; Color Waterfall; Sizes XS to XL Ladies Three Quarter Sleeve Fine Twill	40	EA	\$36.61	\$1,464.40	\$ 25.00	32%			
ODNI2124425D1 02		40		Ċ41 C1	¢1 CC4 40	¢ 25 00	400/			
OPN2124435B1-02	Shirts; Color Waterfall; Sizes 2XL to 3X			\$41.61	\$1,664.40	\$ 25.00	40%			
OPN2124435B1-03	Ladies Short Sleeve Fine Twill Shirts; Color W	40	EA	\$23.49	\$939.60	\$ 25.00	-6%			
	Ladies Short Sleeve Fine Twill Shirts; Color									
OPN2124435B1-04	Waterfall; Sizes 2XL to 3XL	40	EA	\$25.99	\$1,039.60	\$ 25.00	4%			
	Ladies Long Sleeve Fine Twill Shirt; Color									
OPN2124435B1-05	Waterfall; Sizes XS to XL	40	EA	\$23.49	\$939.60	\$ 25.00	-6%			
	Ladies Long Sleeve Fine Twill Shirt; Color									
OPN2124435B1-06	Waterfall; Sizes 2XL to 3XL	40	EA	\$25.99	\$1,039.60	\$ 25.00	4%			
	Mens Short Sleeve Fineline Twill Shirt; Color									
OPN2124435B1-07	Waterfall; XS to XL	40	EA	\$36.61	\$1,464.40	\$ 25.00	32%			
	Mens Short Sleeve Fineline Twill Shirt; Color									
OPN2124435B1-08	Waterfall; 2XL to 5XL	40	EA	\$44.74	\$1,789.40	\$ 25.00	44%			
	Mens Fineline Twill Shirt; Color Waterfall;									
OPN2124435B1-09	Charge for Custom Sizing	40	EA	\$36.61	\$1,464.40	\$ 25.00	32%			
	Womens Microfiber; Wrinkle Resistant;									
OPN2124435B1-10	Pants Charcoal Grey Sizes 0 to 18	50	EA	\$33.69	\$1,684.50	\$ 35.00	-4%			
	,					<u>'</u>				
	Womens Microfiber; Wrinkle Resistant;									
OPN2124435B1-11	Pants Charcoal Grey Sizes 18W to 28W	50	EA	\$49.91	\$2,495.50	\$ 35.00	30%			
0	Womens 55/45 Poly/Wool Pants Charcoal			<del>+ 1010 -</del>	+=,:55:55	Ψ σσ.σσ	30,0			
OPN2124435B1-12	Grey Sizes 0 to 18	50	EA	\$49.94	\$2,497.00	\$ 35.00	30%			
0111212110002122	Womens 55/45 Poly/Wool Pants Charcoal			ψ 1313 1	Ψ2) 137100	φ 33.00	33,3			
OPN2124435B1-13	Grey Sizes 18W to 28W	50	EA	\$74.29	\$3,714.50	\$ 35.00	53%			
0111212110002120	Womens Skirt 63% Polyester 35% Wool 2%			ψ,23	ψ3), 1 1130	φ 33.00	33,0			
OPN2124435B1-14	•	25	EA	\$48.69	\$1,217.25	\$ 30.00	38%			
011V2124433B1 14	Lycru, color charcoal, 31263 2 to 10		-	Ş-0.03	71,217.23	7 30.00	3070			
	   Womens Skirt 63% Polyester 35% Wool 2%									
OPN2124435B1-15	Lycra; Color Charcoal; Sizes 18W to 26W	25	EA	\$73.04	\$1,826.00	\$ 30.00	59%			
OLINGT54423DT-12	Lycra, Color Charcoal, Sizes 1000 to 2000			۶/3.U <del>4</del>	71,020.00	00.00 ب	33/0			
	Womens Microfiber; Wrinkle Resistant;									
ODN 2124425 D4 46	Maternity Pants Charcoal Grey Sizes 0 to	11	_	¢62.50	¢975 00	¢ 25.00	600/			
OPN2124435B1-16	Iniaterility Failts Charcoal Grey Sizes 0 to	14	EA	\$62.50	\$875.00	\$ 25.00	60%			

Group 1				Sharp M	arketing	Cost Estimate	Recommended Bidder %
Item #	Item	Qty	Unit	Price	Total	Price	difference from Cost Estimate
	Womens Microfiber; Wrinkle Resistant;						
OPN2124435B1-17	Maternity Pants Charcoal Grey Sizes 18W	14	EA	\$62.50	\$875.00	\$ 25.00	60%
ODN 2424425 D4 40	Womens 55/45 Poly/Wool Maternity Pants Charcoal Grey Sizes 0 to 18	,,		¢112.00	¢1 F01 CC	¢ 25 00	700/
OPN2124435B1-18	Womens 55/45 Poly/Wool Maternity Pants	14	EA	\$113.09	\$1,591.66	\$ 25.00	78%
OPN2124435B1-19	Charcoal Grey Sizes 18W to 28W	   14	EA	\$113.69	\$1,591.66	\$ 25.00	78%
01 N2124433B1 13	Womens Maternity Skirt 63% Polyester 35%	17	-	7113.03	71,331.00	<b>γ 23.00</b>	7070
OPN2124435B1-20	Wool 2% Lycra; Sizes 2 to 18	   14	EA	\$60.00	\$840.00	\$ 25.00	58%
G :	Womens Maternity Skirt 63% Polyester 35%			700.00	70.000	7 20.00	33,4
OPN2124435B1-21	Wool 2% Lycra; Sizes 18W to 26W	14	EA	\$60.00	\$840.00	\$ 25.00	58%
	, :			-		-	
	Mens Microfiber; Wrinkle Resistant; Flat						
OPN2124435B1-22	Front Pants Charcoal Grey Sizes; 28 to	40	EA	\$33.69	\$1,347.60	\$ 35.00	-4%
	Mens Microfiber; Wrinkle Resistant; Flat						
OPN2124435B1-23	Front Pants Charcoal Grey Sizes; 44 to	40	EA	\$49.91	\$1,996.40	\$ 35.00	30%
	Mens Microfiber; Wrinkle Resistant; Pleated	I		l .			
OPN2124435B1-24	Front Pants Charcoal Grey Sizes; 28	40	EA	\$33.69	\$1,347.60	\$ 35.00	-4%
	AA AA' 6'b W I b . B Bl Bl						
ODNI2424425D4 25	Mens Microfiber; Wrinkle Resistant; Pleated	I		Ć 40. 01	¢1 00C 10	ć 2F 00	200/
OPN2124435B1-25	Front with Cuff Pants Charcoal Grey	40	EA	\$49.91	\$1,996.40	\$ 35.00	30%
	Mens Pants 55/45 Poly/Wool; Flat Front.						
OPN2124435B1-26	Color. Charcoal Grey Sizes 28 to 42	<b> </b>	FΔ	\$49.94	\$1,997.60	\$ 35.00	30%
01 N2124433B1 20	Color. Charcoar Grey 31263 20 to 42	70	-	Ş <del>+</del> 3.5+	71,557.00	7 33.00	3070
	Mens Pants 55/45 Poly/Wool; Flat Front.						
OPN2124435B1-27	Color. Charcoal Grey Sizes 44 to 56	40	EA	\$64.55	\$2,582.00	\$ 35.00	46%
	,			,	. ,		
	Mens Pants 55/45 Poly/Wool; Pleated						
OPN2124435B1-28	Front. Color. Charcoal Grey Sizes 28 to 54	40	EA	\$49.94	\$1,997.60	\$ 35.00	30%
OPN2124435B1-29	Custom Sizing on Mens and Women Pants	40	EA	\$18.00	\$720.00	\$ 12.00	33%
	Womens Blazer # 4103 Charcoal. 63%						
OPN2124435B1-30	Polyester 35% Wool 2% Lycra; Sizes 2 to 18	30	EA	\$96.32	\$2,889.60	\$ 50.00	48%
ODNI242442554-24	Womens Blazer # 4103 Charcoal. 63%	4.0	_,	Ć114 F1	Ć1 14F 10	¢ 50.00	F.C0/
OPN2124435B1-31	Polyester 35% Wool 2% Lycra; Sizes 20 to 26	10	EA	\$114.51	\$1,145.10	\$ 50.00	56%

Group 1				Sharp M	arketing	Cost Estimate	Recommended Bidder % difference from Cost Estimate
Item #	Item	Qty	Unit	Price	Total	Price	
	Mens Blazer # 4026 Charcoal. 63% Polyester						
OPN2124435B1-32	35% Wool 2% Lycra; Sizes 36 to 46	15	EA	\$98.82	\$1,482.30	\$ 50.00	49%
	Mans Blazer # 4026 Chargest C20/ Balvastor						
OPN2124435B1-33	Mens Blazer # 4026 Charcoal. 63% Polyester 35% Wool 2% Lycra; Sizes 48 to 54	   15	EA	\$112.13	\$1,681.95	\$ 50.00	55%
OPN2124435B1-34	Womens Interlock Cardigan # L807; Color; Charcoal Heather.60/40 Cotton/Poly; Siz	30	EA	\$24.74	\$742.20	\$ 50.00	-102%
0111212443381 34	enareda meather so, to edition, tory, siz	30	L/\	γ <u>2</u> 4.74	77 42.20	7 30.00	10270
0011040440504 05	Womens Interlock Cardigan # L807; Color;		- 4	425.00	4250.00	4 50.00	020/
OPN2124435B1-35	Charcoal Heather.60/40 Cotton/Poly; Siz	10	EA	\$25.99	\$259.90	\$ 50.00	-92%
	Mens Sweater Vest # SW286; Color;						
OPN2124435B1-36	Charcoal. 60/40 Cotton/Nylon; Sizes S to XL	15	EA	\$27.68	\$415.20	\$ 50.00	-81%
	Mens Sweater Vest # SW286; Color;						
OPN2124435B1-37	Charcoal. 60/40 Cotton/Nylon; Sizes 2XL to	1,5	ГΛ	¢21 01	\$465.20	\$ 50.00	-61%
OPN2124435B1-37	4XL Major Alterations	400			\$7,200.00	\$ 14.00	22%
0114212443381 30	Broward County Embroidery One time set	1700		710.00	77,200.00	7 14.00	22/0
OPN2124435B1-39	up charge	1	EA	\$0.00	\$0.00	\$ 15.00	0
OPN2124435B1-40	Embroidery Charge Broward County Logo	800	FΑ	\$0.00	\$0.00	\$ 1.25	0
OPN2124435B1-41	Embroidery Charge Division Name	800			\$0.00	\$ 1.25	Ĭ
Group 1 Total	, 5				\$ 62,120.12		100%

Group 2				Sharp M	arketing	Cost Estimate	Recommended Bidder %
Item #	Item	Qty	Unit	Price	Total	Price	difference from Cost Estimate
	Edwards #5040 Ladies Lightweight						
	Open Neck Poplin Blouse White Sizes;						
OPN2124435B1-01	XS to XL	6	EA	\$25.82	\$154.92	\$25.00	3%
	Edwards #5040 Ladies Lightweight						
	Open Neck Poplin Blouse White Sizes;						
OPN2124435B1-02		6	EA	\$27.69	\$166.14	\$25.00	10%
	Edwards #5040 Ladies Lightweight						
	Open Neck Poplin Blouse French Blue						
OPN2124435B1-03	Sizes; XS	6	EA	\$25.82	\$154.92	\$25.00	3%
	Edwards #5040 Ladies Lightweight						
	Open Neck Poplin Blouse French Blue						
OPN2124435B1-04	Sizes; 2X	6	EA	\$27.69	\$166.14	\$25.00	10%
	Edwards #5040 Ladies Lightweight						
	Open Neck Poplin Blouse Navy Sizes; XS						
OPN2124435B1-05		5	EA	\$25.82	\$129.10	\$25.00	3%
	Edwards #5040 Ladies Lightweight						
	Open Neck Poplin Blouse Navy Sizes;						
OPN2124435B1-06	2XL to 4X	5	EA	\$27.69	\$138.45	\$25.00	10%
	Edwards #5245 Ladies Lightweight						
	Short Sleeve Poplin Blouse White Sizes;						
OPN2124435B1-07	XS to	6	EA	\$25.26	\$151.56	\$25.00	1%
	Edwards #5245 Ladies Lightweight						
	Short Sleeve Poplin Blouse White Sizes;						
OPN2124435B1-08	2XL	6	EA	\$30.56	\$183.34	\$25.00	18%
	Edwards #5245 Ladies Lightweight						
	Short Sleeve Poplin Blouse French Blue						
OPN2124435B1-09	Sizes;	6	EA	\$25.26	\$151.56	\$25.00	1%
	Edwards #5245 Ladies Lightweight						
	Short Sleeve Poplin Blouse French Blue						
OPN2124435B1-10	Sizes;	6	EA	\$30.56	\$183.34	\$25.00	18%
	Edwards #5245 Ladies Lightweight						
	Short Sleeve Poplin Blouse Navy Sizes;				1.		
OPN2124435B1-11		5	EA	\$25.26	\$126.30	\$25.00	1%
	Edwards #5245 Ladies Lightweight						
	Short Sleeve Poplin Blouse Navy Sizes;				1.		
OPN2124435B1-12	2XL to	5	EA	\$30.56	\$152.78	\$25.00	18%
	Edwards #5295 Ladies Lightweight						
000104040=======	Open Neck Poplin Blouse White Sizes;		<b> </b>	405.55	4.5.55	40- 65	
OPN2124435B1-13		6	EA	\$25.82	\$154.92	\$25.00	3%
	Edwards #5295 Ladies Lightweight						
	Open Neck Poplin Blouse White Sizes;			400		40=	
OPN2124435B1-14	2XL to 4	6	EA	\$30.94	\$185.61	\$25.00	19%

Group 2				Sharp Ma	arketing	Cost Estimate	Recommended Bidder %
Item #	Item	Qty	Unit	Price	Total	Price	difference from Cost Estimate
	Edwards #5295 Ladies Lightweight						
	Open Neck Poplin Blouse French Blue						
OPN2124435B1-15	Sizes; XS	6	EA	\$25.82	\$154.92	\$25.00	3%
	Edwards #5295 Ladies Lightweight						
	Open Neck Poplin Blouse French Blue						
OPN2124435B1-16	-	6	EA	\$30.94	\$185.61	\$25.00	19%
	Edwards #5295 Ladies Lightweight						
	Open Neck Poplin Blouse Navy Sizes; XS						
OPN2124435B1-17	to XL	5	EA	\$25.82	\$129.10	\$25.00	3%
	Edwards #5295 Ladies Lightweight						
	Open Neck Poplin Blouse Navy Sizes;						
OPN2124435B1-18	2XL to 4X	5	EA	\$30.94	\$154.68	\$25.00	19%
	Edwards # 5029 Ladies Tailored						
	Maternity Stretch Blouse White Sizes;						
OPN2124435B1-19		2	EA	\$36.19	\$72.38	\$25.00	31%
	Edwards # 5029 Ladies Tailored						
	Maternity Stretch Blouse White 2XL to						
OPN2124435B1-20	4XL	2	EA	\$43.78	\$87.55	\$25.00	43%
	Edwards # 5029 Ladies Tailored						
	Maternity Stretch Blouse French Blue						
OPN2124435B1-21	Sizes; XS	2	EA	\$36.19	\$72.38	\$25.00	31%
	Edwards # 5029 Ladies Tailored						
	Maternity Stretch Blouse French Blue						
OPN2124435B1-22	Sizes; 2XL	2	EA	\$43.78	\$87.55	\$25.00	43%
	Edwards #1245 Mens Lightweight Short						
OPN2124435B1-23	Sleeve Poplin Shirt White Sizes; XS to XL	18	EA	\$25.26	\$454.68	\$25.00	1%
	Edwards #1245 Mens Lightweight Short						
OPN2124435B1-24	Sleeve Poplin Shirt White Sizes; 1XL to 4	18	EA	\$30.23	\$544.05	\$25.00	17%
	Edwards #1245 Mens Lightweight Short						
OPN2124435B1-25	Sleeve Poplin Shirt White Sizes; Talls L	18	EA	\$29.23	\$526.14	\$25.00	14%
	Edwards #1245 Mens Lightweight Short						
OPN2124435B1-26	Sleeve Poplin Shirt French Blue Sizes; XS	18	EA	\$25.26	\$454.68	\$25.00	1%
	Edwards #1245 Mens Lightweight Short						
OPN2124435B1-27	Sleeve Poplin Shirt Colors. French Blue S	18	EA	\$25.26	\$454.68	\$25.00	1%
	Edwards #1245 Mens Lightweight Short						
OPN2124435B1-28	Sleeve Poplin Shirt French Blue Sizes; Ta	18	EA	\$29.23	\$526.14	\$25.00	14%

Group 2				Sharp M	arketing	Cost Estimate	Recommended Bidder %
Item #	ltem	Qty	Unit	Price	Total	Price	difference from Cost Estimate
	Edwards #1245 Mens Lightweight Short						
OPN2124435B1-29	Sleeve Poplin Shirt Navy Sizes; XS to XL	5	EA	\$25.26	\$126.30	\$25.00	1%
	, ,			,		,	
	Edwards #1245 Mens Lightweight Short						
OPN2124435B1-30	Sleeve Poplin Shirt Colors. Navy Sizes; 1	5	EA	\$29.23	\$146.15	\$25.00	14%
	Edwards #1245 Mens Lightweight Short						
OPN2124435B1-31	Sleeve Poplin Shirt Navy Sizes; Talls L t	5	EA	\$29.23	\$146.15	\$25.00	14%
01 N212++33D1 31	Siceve i opini sini civavy sizes, rans e c		-/-	<i>γ23.23</i>	Ş140.13	723.00	1470
	Edwards #1295 Mens Lightweight Long						
OPN2124435B1-32	Sleeve Poplin Shirt White Sizes; XS to XL	18	EA	\$25.82	\$464.76	\$25.00	3%
	Edwards #1295 Mens Lightweight Long						
ODNI2424425D4 22	Sleeve Poplin Shirt White Sizes; 1XL to	4.0		620.04	¢556.03	¢25.00	400/
OPN2124435B1-33	4X	18	EA	\$30.94	\$556.83	\$25.00	19%
	   Edwards #1295 Mens Lightweight Long						
OPN2124435B1-34	1	18	EA	\$29.91	\$538.38	\$25.00	16%
	Edwards #1295 Mens Lightweight Long						
OPN2124435B1-35	Sleeve Poplin Shirt French Blue Sizes; XS	18	EA	\$25.82	\$464.76	\$25.00	3%
	Edwards #1295 Mens Lightweight Long Sleeve Poplin Shirt French Blue Sizes;						
OPN2124435B1-36	1XL	18	EA	\$29.91	\$538.38	\$25.00	16%
011121211335130	Edwards #1295 Mens Lightweight Long	10	-/\	<b>Ψ23.31</b>	7556.56	<b>\$23.00</b>	1070
	Sleeve Poplin Shirt French Blue Sizes;						
OPN2124435B1-37	Tal	18	EA	\$29.91	\$538.38	\$25.00	16%
ODN2124425B1 20	Edwards #1295 Mens Lightweight Long	5	EA	\$25.82	\$129.10	\$25.00	3%
OPN2124435B1-38	Sleeve Poplin Shirt Navy Sizes; XS to XL Edwards #1295 Mens Lightweight Long	5	EA	\$25.82	\$129.10	\$25.00	3%
	Sleeve Poplin Shirt Navy Sizes. 1XL to						
OPN2124435B1-39	4XL	5	EA	\$30.94	\$154.68	\$25.00	19%
	Edwards #1295 Mens Lightweight Long				1.	1.	
OPN2124435B1-40	Sleeve Poplin Shirt Navy Sizes. Talls L to	5	EA	\$29.91	\$149.55	\$25.00	16%
	Womens Pants/Dress 63%Poly/35%Wool/2%Lycra Black Sizes;						
OPN2124435B1-41	0 to 18	20	EA	\$49.94	\$998.80	\$40.00	20%
11.1122.10331.11	Womens Pants/Dress		1	+ .5.5	7555.50	7	2370
	63%Poly/35%Wool/2%Lycra Black Sizes;						
OPN2124435B1-42	18W to 28W	20	EA	\$74.29	\$1,485.80	\$40.00	46%

Group 2				Sharp Ma	rketing	Cost Estimate	Recommended Bidder %
Item #	Item	Qty	Unit	Price	Total	Price	difference from Cost Estimate
	Womens Maternity Pants/Dress						
	63%Poly/35%Wool/2%Lycra Black Sizes;						
OPN2124435B1-43	0 to 18	5	EA	\$113.69	\$568.45	\$25.00	78%
	Womens Maternity Pants/Dress						
	63%Poly/35%Wool/2%Lycra Black Sizes;						
OPN2124435B1-44		5	EA	\$113.69	\$568.45	\$25.00	78%
	Womens Skirt 63% Polyester 35% Wool						
OPN2124435B1-45	2% Lycra; Black Sizes 2 to 18	10	EA	\$48.69	\$486.90	\$55.00	-13%
	Womens Skirt 63% Polyester 35% Wool						
OPN2124435B1-46	2% Lycra; Black Sizes 18W to 26W	10	EA	\$73.04	\$730.40	\$55.00	25%
	Mens Pants/Dress						
	63%Poly/35%Wool/2%Lycra;Flat Front;						
OPN2124435B1-47	Black Sizes; 28 to 42	34	EA	\$49.94	\$1,697.96	\$36.00	28%
	Mens Pants/Dress						
	63%Poly/35%Wool/2%Lycra;Flat Front;						
OPN2124435B1-48	Black Sizes; 44 to 56	34	EA	\$69.42	\$2,360.28	\$36.00	48%
	Mens Pants/Dress						
	63%Poly/35%Wool/2%Lycra; Pleated						
OPN2124435B1-49	Front; Black Sizes; 28 to 42	34	EA	\$49.94	\$1,697.96	\$36.00	28%
	Mens Pants/Dress						
	63%Poly/35%Wool/2%Lycra; Pleated						
OPN2124435B1-50	Front; Black Sizes; 44 to 56	34	EA	\$69.42	\$2,360.28	\$36.00	48%
	Mens Sweater Vest # SW286; Color;						
OPN2124435B1-51	Black. 60/40 Cotton/Nylon; Sizes S to XL	32	EA	\$27.68	\$885.76	\$35.00	-26%
	Mens Sweater Vest # SW286; Color;						
	Black. 60/40 Cotton/Nylon; Sizes 1XL to						
OPN2124435B1-52	4XL	32	EA	\$30.86	\$987.63	\$35.00	-13%
	Custom Sizing on Mens and Women						
OPN2124435B1-53	Pants	40	EA	\$18.00	\$720.00	\$12.00	33%
	Womens Interlock Cardigan # L807;						
OPN2124435B1-54	Color; Black.60/40 Cotton/Poly; Sizes XS	10	EA	\$25.24	\$252.40	\$35.00	-39%
	Color; Black.60/40 Cotton/Poly; Sizes						
OPN2124435B1-55	1XL to 3	10	EA	\$27.74	\$277.40	\$35.00	-26%
	Rain Jackets Class 3; Sizes S to 3XL	44	EA	\$101.62	\$4,471.28	\$35.00	66%
	Rain Jackets Class 3; Sizes Tall L to 4XL	44	EA	\$101.62	\$4,471.28	\$35.00	66%
OPN2124435B1-58	•	800	EA	\$18.00	\$14,400.00	\$14.00	22%
	Broward County Embroidery One time						
OPN2124435B1-59	set up charge	20	EA	\$0.00	\$0.00	\$15.00	0
	Embroidery Charge Broward County						
OPN2124435B1-60	Logo	1800	EA	\$0.00	\$0.00	\$1.25	0

Group 2				Sharp N	larketing	Cost Estimate	Recommended Bidder %
							difference from
Item #	Item	Qty	Unit	Price	Total	Price	Cost Estimate
OPN2124435B1-61	Embroidery Charge Division Name	1800	EA	\$0.00	\$0.00	\$1.25	0
	Broward County Silkscreen Set Up						
OPN2124435B1-62	Charge	20	EA	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-63	Silkscreen Charge Broward County Logo	90	EA	\$0.00	\$0.00	\$15.00	0
	Silkscreen Charge Broward County Logo						
OPN2124435B1-64	(One Color)	90	EA	\$0.00	\$0.00	\$1.25	0
	Silkscreen Charge for Division Name						
OPN2124435B1-65	One Color Back of Rain Jacket	40	EA	\$0.00	\$0.00	\$1.25	0
Group 2 Total		1	-Year	initial:	\$49,478.06		100%

	I	I	Ι	1			
Group 3					<b>l</b> arketing	Cost Estimate	Recommended Bidder % difference from
Item #	Item	Qty	Unit	Price	Total	Price	Cost Estimate
OPN2124435B1-01	Embroidery Charge Department Name	1800	EA	0	\$0.00	\$1.25	0%
	Mens Snag-Free Performance Short Polo;						
OPN2124435B1-02	Black 019; Size XS to 2XL	40	EA	\$53.54	\$2,141.60	\$20.00	63%
	Mens Snag-Free Performance Short Polo;						
OPN2124435B1-03	Black 019; Size 3XL to 4XL	20	EA	\$57.92	\$1,158.30	\$20.00	65%
	Mens Snag-Free Performance Short Polo;						
OPN2124435B1-04	Black 019; Size Tall L to 5XL	10	EA	\$57.29	\$572.90	\$20.00	65%
	Mens Tactical Short Sleeve 100% Cotton						
OPN2124435B1-05	Polo; Black; Size S to 2XL	40	EA	\$53.54	\$2,141.60	\$20.00	63%
	Mens Tactical Short Sleeve 100% Cotton						
OPN2124435B1-06	Polo; Black; Size 3XL	20	EA	\$57.29	\$1,145.80	\$20.00	65%
	Womens Snag-Free Performance Short						
OPN2124435B1-07	Polo; Black; Size XS to XL	5	EA	\$53.54	\$267.70	\$20.00	63%
	Mens Snag-Free Performance Long Sleeve						
OPN2124435B1-08	Polo; Black 019; Size S to 2XL	40	EA	\$57.29	\$2,291.60	\$20.00	65%
	Mens Snag-Free Performance Long Sleeve						
OPN2124435B1-09	Polo; Black 019; Size 3XL to 4XL	10	EA	\$60.62	\$606.23	\$20.00	67%
OPN2124435B1-10	Mens Snag-Free Performance Long Sleeve Polo; Black 019; Size Tall L to 5XL	5	EA	\$60.86	\$304.28	\$20.00	67%
	Mens Long Sleeve 100% Cotton Polo; Black						
OPN2124435B1-11	019; Size S to 2X	40	EA	\$69.79	\$2,791.60	\$20.00	71%
	Mens Long Sleeve 100% Cotton Polo; Black						
OPN2124435B1-12	019; Size 3X	10	EA	\$69.79	\$697.90	\$20.00	71%
	Tru-Spec 24-7 Womens Performance Polo;						
OPN2124435B1-13	Black 019; Size XS to 4XL	40	EA	\$69.79	\$2,791.60	\$20.00	71%
	Galls Womens Long Sleeve Tac Force Mesh						
OPN2124435B1-14	Polo; Black; Size XS to 5XL	40	EA	\$76.04	\$3,041.60	\$20.00	74%
	Cornerstone Mens Tactical Short Sleeve						
OPN2124435B1-15	Polo; Black White Red Dark Navy Royal	10	EA	\$53.54	\$535.40	\$20.00	63%
	Cornerstone Mens Tactical Short Sleeve				4		
OPN2124435B1-16	Polo; Black White Red Dark Navy Royal	10	EA	\$56.87	\$568.73	\$20.00	65%
OPN2124435B1-17	Cornerstone Mens Tactical Short Sleeve Polo; Black White Red Dark Navy Royal	10	EA	\$56.87	\$568.73	\$20.00	65%
OPN2124435B1-18	Cornerstone Select Snag-Proof Ladies Tactical Short Sleeve Polo; Black White R	15	EA	\$53.54	\$803.10	\$20.00	63%

Group 3					<i>l</i> larketing	Cost Estimate	Recommended Bidder % difference from
Item #	Item	Qty	Unit	Price	Total	Price	Cost Estimate
	Cornerstone Select Snag-Proof Ladies						
OPN2124435B1-19	Tactical Short Sleeve Polo; Black White R	2	EA	\$54.79	\$109.58	\$20.00	63%
	Cornerstana Salast Spag Draaf Ladias						
ODN2124425D1 20	Cornerstone Select Snag-Proof Ladies	١,		¢57.20	¢114 F0	¢20.00	650/
OPN2124435B1-20	Tactical Short Sleeve Polo; Black White R		EA	\$57.29	\$114.58	\$20.00	65%
	Cornerstone Select Snag-Proof Ladies						
OPN2124435B1-21	Tactical Short Sleeve Polo; Black White R	) ,	EA	\$58.54	\$117.08	\$20.00	66%
OPN2124435B1-22	Tru-Spec Mens 24-7 Series Original Tactical F		EA	\$37.49	\$1,387.13	\$30.00	20%
0111212113331 22	Tru-Spec Womens 24-7 Series Original	<del>                                     </del>	-/-	<del>337.13</del>	71,307.13	750.00	2070
OPN2124435B1-23	Tactical Pants; Khaki; Size 0 to 24	10	EA	\$37.49	\$374.90	\$30.00	20%
	, , , , , , , , , , , , , , , , , , , ,				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	,	
OPN2124435B1-24	Operator 1.75" Belt; Color Black; Size S to XL	40	EA	\$12.49	\$499.60	\$15.00	-20%
	Operator 1.75" Belt; Color Black; Size 2XL to						
OPN2124435B1-25	4XL	10	EA	\$12.49	\$124.90	\$15.00	-20%
	Neese Lime Green 48" PVC Vinyl Raincoat						
OPN2124435B1-26	with Reflective Striping; Plain; Size S	20	EA	\$51.84	\$1,036.80	\$20.00	61%
	Neese Lime Green 48" PVC Vinyl Raincoat		l	4-0-00	4-00 00	400.00	
OPN2124435B1-27	with Reflective Striping; Plain; Size 3X	10	EA	\$58.09	\$580.90	\$20.00	66%
	Nacco Limos Cracas 2011 DVC Visual Deimocat						
OPN2124435B1-28	Neese Lime Green 30" PVC Vinyl Raincoat	20		\$43.09	¢061.00	\$20.00	E 40/
OPN2124435B1-28	with Reflective Striping; Plain; Size S	20	EA	\$43.09	\$861.80	\$20.00	54%
	Neese Lime Green 30" PVC Vinyl Raincoat						
OPN2124435B1-29	with Reflective Striping; Plain; Size 3X	10	EA	\$58.09	\$580.90	\$20.00	66%
0111212113331 23	Neese Duty Rain Trousers; Lime Green; Size	1 10	-/-	730.03	7500.50	720.00	00/0
OPN2124435B1-30		40	EA	\$57.49	\$2,299.60	\$15.00	74%
	Neese Duty Rain Trousers; Lime Green; Size			, -	, , , , , , ,	1	
OPN2124435B1-31	•	10	EA	\$72.49	\$724.90	\$15.00	79%
	Pro Line Rubber T-Series Boots or equal						
OPN2124435B1-32	equivalent; Black; Mens Size 8 to 14	40	EA	\$74.31	\$2,972.40	\$15.00	80%
	Pro Line Rubber T-Series Boots or equal						
OPN2124435B1-33	equivalent; Black; Womens Size 6 to 12	10	EA	\$74.31	\$743.10	\$15.00	80%
	Hard Hat; MSA V-Gard 500 Vented with Fas-			4	1	4	
OPN2124435B1-34	Trac; Yellow/Green	50	EA	\$55.91	\$2,795.50	\$25.00	55%

	T			I		T	
Group 3				Sharp M		Cost Estimate	Recommended Bidder % difference from
Item #	Item	Qty	Unit	Price	Total	Price	Cost Estimate
OPN2124435B1-35	Safety Vest; ANSI II 207 4 pt. Breakaway Tactical Zip Vest; Size S to 5XL	50	EA	\$33.56	\$1,678.00	\$10.00	70%
OF N2124433B1-33	ractical Zip Vest, Size 3 to 3AL	30	LA	<del>333.30</del>	\$1,076.00	\$10.00	7076
OPN2124435B1-36	Safety Glasses Grainger Scratch-resistant Baseball Cap One Size with Embroidery;	50	EA	\$5.23	\$261.50	\$5.00	4%
OPN2124435B1-37	Black 019	50	EA	\$39.45	\$1,972.50	\$10.00	75%
OPN2124435B1-38	Jacket 3 in 1 Parka; Black 019; Size XS to 4XL		EA		\$6,485.50	\$50.00	61%
OPN2124435B1-39	Job Shirt 1/4 zip; Black; Size XS to 2XL		EA	\$45.31	\$498.41	\$35.00	23%
OPN2124435B1-40	Job Shirt 1/4 zip; Black; Size 3XL		EA	\$49.06	\$539.66	\$35.00	29%
OPN2124435B1-41	Job Shirt 1/4 zip; Black; Size Long 4XL to 5XL		EA	\$50.31	\$100.62	\$35.00	30%
OPN2124435B1-42	Flashlight; LED rechargeable		EA	-	\$7,782.00	\$15.00	90%
OPN2124435B1-43	Flashlight Holster		EA	\$13.74	\$687.00	\$15.00	-9%
OPN2124435B1-44	Whistle	-	EA	\$16.86	\$843.00	\$5.00	70%
OPN2124435B1-45	Paragon #SM0104 Ladies Solid Mesh Short Sleeve Polo; Color Black; Size XS to 3X Paragon #SM0104 Ladies Solid Mesh Short	7	EA	\$25.33	\$177.31	\$25.00	1%
OPN2124435B1-46	Sleeve Polo; Color Black; Size 2XL to 3	7	EA	\$27.98	\$195.86	\$25.00	11%
OPN2124435B1-47	Paragon #SM0100 Men Solid Short Sleeve Polo; Black; Size S to XL		EA		\$177.31	\$25.00	1%
OPN2124435B1-48	Paragon #SM0100 Men Solid Short Sleeve Polo; Black; Size 2XL to 3XL	7	EA	\$27.98	\$195.86	\$25.00	11%
OPN2124435B1-49	Paragon #SM0110 Men Long Sleeve Mesh Polo; Black; Size S to XL	7	EA	\$26.20	\$183.40	\$25.00	5%
OPN2124435B1-50	Paragon #SM0110 Men Long Sleeve Mesh Polo; Black; Size 2XL to 3XL	7	EA	\$29.51	\$206.54	\$25.00	15%
OPN2124435B1-51	Paragon #PA120 Ladies Palm Long Sleeve 3/4 Sleeve Polo; Black Size XS to XL	7	EA	\$25.20	\$176.40	\$25.00	1%
OPN2124435B1-52	Paragon #PA120 Ladies Palm Long Sleeve 3/4 Sleeve Polo; Black Size 2XL to 3XL	7	EA	\$27.97	\$195.79	\$25.00	11%
OPN2124435B1-53	Edwards #2550 Mens Hospitality Flat Front Pant; Black; Size 28 to 42	14	EA	\$23.69	\$331.66	\$25.00	-6%
OPN2124435B1-54	Edwards #2550 Mens Hospitality Flat Front Pant; Black; Size 44 to 54 Edwards #8550 Ladies Hospitality Flat Front	14	EA	\$30.43	\$426.02	\$25.00	18%
OPN2124435B1-55	Pant; Black; Size 0 to 18 Edwards #8550 Ladies Hospitality Flat Front	14	EA	\$23.69	\$331.66	\$25.00	-6%
OPN2124435B1-56	Pant; Black; Size 18W to 28W	14	EA	\$28.18	\$394.52	\$25.00	11%

	Т						1
Group 3				Sharp M	<b>N</b> arketing	Cost Estimate	Recommended Bidder % difference from
Item #	Item	Qty	Unit	Price	Total	Price	Cost Estimate
	Edwards #9799 Polyester Skirt; Black; Size 0						
OPN2124435B1-57	to 18	10	EA	\$29.94	\$299.40	\$25.00	16%
	Edwards #9799 Polyester Skirt; Black; Size						
OPN2124435B1-58	18W to 28W	10	EA	\$38.93	\$389.30	\$25.00	36%
OPN2124435B1-59	Custom Sizing on Mens and Women Pants	20	EA	\$18.00	\$360.00	\$12.00	33%
	Broward County Embroidery One time set						
OPN2124435B1-60	up charge	20	EA	\$0.00	\$0.00	\$15.00	0
OPN2124435B1-61	Embroidery Charge Broward County Logo	800	EA	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-62	Embroidery Charge Division Name	800	EA	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-63	Embroidery Charge Department Name	800	EA	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-64	Embroidery Charge Airport Security Logo	800	EA	\$0.00	\$0.00	\$1.25	0
	Embroidery Charge American Flag left						
OPN2124435B1-65	sleeve	400	EA	\$0.00	\$0.00	\$1.25	0
	Embroidery Charge Employee last name (All						
OPN2124435B1-66	Caps)	50	EA	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-67	Embroidery Charge Employee First Name	200	EA	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-68	Embroidery Charge waving American Flag with " FLL WILL NEVER FORGET 9-11"	200	EA	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-69	Broward County Silkscreen Set Up Charge	-	EA	\$0.00	\$0.00	\$15.00	0
OPN2124435B1-70	Silkscreen Charge Broward County Logo as per Specifications (Multi-Color)	400	EA	\$0.00	\$0.00	\$1.25	0
	Silkscreen Charge Broward County Logo						
OPN2124435B1-71	(One Color)	400	EA	\$0.00	\$0.00	\$1.25	0
	Silkscreen Charge for Division Name One		l	40.00	40.00	4	
OPN2124435B1-72	Color Back of Rain Jacket	200	_	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-73	Silkscreen Charge Airport Security Logo	400	EA	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-74	Silkscreen Charge one color back of shirt "Airport Security"	200		\$0.00	\$0.00	\$1.25	0
OPN2124433B1-74 OPN2124435B1-75	Silkscreen Charge Department Name	800	_	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-76	Silkscreen Charge Division Name	800	_	\$0.00	\$0.00	\$1.25	0
OFN2124433B1-70	Silkscreen Charge- 4 inch letters Silver	800	LA	30.00	30.00	71.23	0
OPN2124435B1-77	reflective "Airport Security"	200	FΔ	\$0.00	\$0.00	\$1.25	0
3. 11212 1433D1 77	Silkscreen Charge waving American Flag	200	-/.	70.00	70.00	71.23	
OPN2124435B1-78	with "United We Stand"	200	EA	\$0.00	\$0.00	\$1.25	0
	Silk Screen Charge Vertical Black Letters						
OPN2124435B1-79	"Airport' " Security"	200	EA	\$0.00	\$0.00	\$1.25	0

Group 3 Item #	Item	Qty	Unit	Sharp Marketing		Cost Estimate	Recommended Bidder % difference from
				Price	Total	Price	Cost Estimate
	Silk Screen Charge Black Letters "Airport						
OPN2124435B1-80	Security"	200	EA	\$0.00	\$0.00	\$1.25	0
OPN2124435B1-81	Embroidery Charge waving American Flag with " FLL WILL NEVER FORGET 9-11"	200	EA	\$0.00	\$0.00	\$1.25	0
	Sport-Tek #ST650 Micropique Sport-Wick						
OPN2124435B1-82	Polo; Various Colors: Size XS to XL	32	EA	\$26.13	\$836.16	\$20.00	23%
	Sport-Tek #ST650 Micropique Sport-Wick						
OPN2124435B1-83	,	33	EA	\$33.13	\$1,093.22	\$20.00	40%
OPN2124435B1-84	Port Authority #L500 Ladies Silk Touch Polo; Various Colors: Size XS to XL	25	EA	\$18.68	\$467.00	\$20.00	-7%
	Port Authority #L500 Ladies Silk Touch Polo;						
OPN2124435B1-85	Various Colors: Size 2XL to 6XL	10	EA	\$23.93	\$239.30	\$20.00	16%
Group 1 Total		1-year initial:			\$62,120.11		
Group 2 Total		1-year initial:			\$49,478.06		
Group 3 Total		1-year Initial					
		Grand Total 1-yea					
		initial:			\$176,875.42		
		Grand Total 3-year					]

Prices are fair and reasonable when factoring the current supply chain shortages and increases in PPI industry group data for Textile and fabric finishing mills, not seasonally adjusted. PPI Industry Series PCU3133.